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PERCENTAGE Work Sheet

BOOK SOURCE SPLIT UP

S.No TITLE NEW Exercise
OLD
Percentage OLD 21,2.2,23
NEW 21,22,23
OLD 1.1
NEW 1.1
R.S. AGGARWAL Page No: 308 - 373

(2020 Edition)

In mathematics, a percentage is a number or ratio expressed as a fraction of 100. It
is often denoted using the percent sign, "%"

FRACTION PERCENTAGE FRACTION PERCENTAGE
1 1000/ 0 9 i 0 /0
11

AN

50% 8 % %

N

33 % % 7% %

NN

25% 7 % %

200/0 62 0/0
3

R

>R

16%% 6% %

% 142 % 55%
7 17
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12 % %

11 % %
10%

1. A Percent = a% = -~
100

2. a% of b= -2 «b= b% of a
100

3. Percentage Increase (or) decrease

1. It the price of a commodity increases by R%, then the reduction in
consumption so as not to increase the expenditure is
R x100 %
(100+R)

It the price of a commodity decreases by R%, then the increase in
consumption so as not to decrease the expenditure is

[ A x100}96

(100—R)

Results on Population: Let the population of a town be P now and suppose it
increases at the rate of R% per annum, then:

1. Population after n years = P(1+ %)

_r
1+i
100

Results on Depreciation : Let the present value of a machine be P. Suppose it
depreciates at the rate of R% per annum. Then:

2. Population n years ago =

1. Value of the machine after n years = P (1—%)

kP
1~ R
100

4. If Ais R% more than B, then B is less than A by

2. Value of the machine n years age =
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(100R ) x100 %
_+_

If A is R% less than B, then B is more than A by
S -
| (100-R)

x100 |%

Convert % to percent

a.175% b.17.5% c. 1.75% d. 140%

Convert 28 % % to fraction
2 3
a. - b. 47

Covert 30 % % to fraction

151
" 500

35% of 35
3560 35% &zaimlD 66
a.1.125 b. 1.225 c. 0.1225

Anbu scored 436 marks out of 500 in his exams. what was the percentage he
scored?

o6t eteaUT 500 &@ 436 aiBSHBlenentT, eiefled Siauflerr AICUEET FHaiHld

a. 83.2% b. 82.2% c. 8.32% d. None of these

There are 50 students in a a class. If 14% are absent on a particular day, find
the number of students present in the class.

aGLled o effem 50 oTewiaUTHeMNe0, @B GUIICL prefed 14% gseisd Gui
aHMS Lflweledenev, elefled SibBHTeNe0 aumHend LfhHeauTseler erewrenildems

a. 36 b. 86 c.7 d. 43

A family cleans a house for pongal celebration by dividing the work in the

ratio 1:2:3. Express each portion of work as percentage.

QM GOBWUD UTRIBM alpTalBaTe allmL &GS OFulumdBE Couemevenus 1 : 2
3 el elBHHHHev UHTHFH OsTewiLenT  eleiew, Geouemevullet eI

UGHDWUID FHAHLOTEH HT6HISb.

a. 33%%, 16%%, 50% b. 16%%, 33%%, 50%
C. 16%%, 33%%, 50% d. 16%%, 33%%, 50%
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What percentage of a day is 10 hours?
@@ BHreMled 10 1ewll GBI 6ITUSHIT FHAIHLID.

a. 86% b. 43 % % c. 41.67% d. 40.25%

Divide Rs. 350 among P, Q, R such that P gets 50% of what Q gets and Q gets
50% of what R gets?

R eteirs puT GQuupeudled 50% = Q eeis BU®GD, Q Guuudled 50% o P ereiiys
pLGL Gupiorsl P, Q, R eeis cpeiim pLTsEnd@ Lfldsayb. (Rs)

a. R=200; P=50Q =100 b.R=200,P=75, Q=125

c. R=100, P =200,Q =50 d. R =100, P =50; Q =200

What rate percent is 2 minutes to an hour?
1 wenfl GHrHFHeL 2 HIOLMIF6T 6IGTLSHH FHATHLD

a. 1 %% b. 4% c.3%%

48 is 32% of what number?
@ erewtenient 32% elaiilg 48 eIeiled Db 6T6wT 6T6wT60?
a. 66 2/ b. 150 c. 66 24 % d. 150%

If Q% of Qis 676 Then find Q
Qar Q% syenig 676 eiafled Q &1 HILY
a. 2600 b. 67600 c. 260 d. 65

66 % % of 50% of 27 is equal to
27 &t 50% it 66 %4 % et Wi
a. 6 b.12 c.3 d.9

If 75% of a number is added to 75, then the result is the number Itself. The
number is.

@ oewiewiet 75% o Let 75 &, gl GBUTEH I8FH eewt e SHmEHI  elafled
Db 616001 616016017

a. 50 b. 60 c. 300 d. 400

A student secures 90%, 60% and 54% marks in test papers with 100, 150, 200
respectively as maximum marks. The percentage of his aggregate is
o wreweuest 100, 150, 200 & oFs uls wHLICOUHTE CaTewi  CxhiTaled
wenpBw 90%, 60%, 54% OQumpptT eeled Seuflar GrsHs CaxTed FaHaisld ereben?
a. 68 b. 64 c.70 d. none of these
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If the difference between 75% of a number and 60% of the same number is
82.5, then find 20% of the number.

@ erewienflest 75% S 218z elewienienr 60% &FHD Bew Cui o eiten alGHHWTFID
82.5 eafled oibs eremieniesr 20% g3 e

a. 550 b. 330 c. 110 d. 165

Level of water in a tank is increased to 50 litres from 35 litres in 2 minutes

what is the percentage of increase?
R QBT uied SHewieniter olee] 2 BIOLSHHe0 35 Il Lfled @mbaH 50 e LJTH
OIFHBMNHHBHI 61eN60, DHBMHSH SHewrewiMel FHAIHD 6161607

a. 28;% b. 42%% C. 42%% d.15%

A tank can hold 200 litres of water. At present, it is only 40 % full. How many
litres of water to fill in the tank, so that it is 75 % full?

@@ HeweniT Gpm guier Gsmetenene] 200 I LTseT Suab. HBOUTH igH60
40% sewenfT BiyblueTengl. eefed 75% HewieniT oiFed  HlevpuGaie(BoLeN60
BTID THHM VI L TH6IT HewrentT CHemauliLiBHLd?

a. 105 b. 70 c. 35 d. 25

The value of a machine depreciates at 10% per year. If the present value is X
1,62,000, what is the worth of the machine after two years.

R BupdrsHer  sBCuTemsw  wFH]  qp 162,000 @eiGeurm  SLewIBHSD
oelupdrsdar  wHiy 10% Gopsps el Qraii  uMmIBHT  HHHS
SealWhbHTHHeT I 6TesTe0r?

a. 113220 b. 14580 c. 131220 d. 129600

If the first number is 20% less than the second number and the second number
is 25% more than 100, then find the first number.

(PH60 6TewT G @rewiLmid elewienemial  20% @Gewmey. BT6NILMTID 6T6WT LIS
100 &3 ol 25% 9150660 (IpH6L 616WT 6T60T60N?

a. 540 b. 100 c. 200 d. None of these

If the price of petorl is increased by 30%, by how much percent a car owner
must reduce his consumption in order to maintain the same budget?

QUL Gymedest alemev 30% oiFHafdbsiiubdpa. smier o Mevwwrent i85 GFsvalsd
QUL Gymemev OFHTLY Geuewi(Bld el o LBWITHSHHED 6T6leU6Ne)| HMMHHISH GHT6lTeN
Geuemt(BHLD?

a.21% b. 211% C. 23i% d. 33%
3 13
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An alloy consists of 30% copper and 40% Zinc, and the remaining is nickel.
find the amount of nickel in 20 kilograms of the alloy.

o 2 Geurs sevenauuled 30% a&miumbd 40% rid-1b 2 _eTengl.  BH(Ip6iTeTen6l
HoHHe0 GD. 20 HF 2 BeoTsdHHe0maluled HleHEHeVlT 6TenL 616116667

a.8 kg b.12 kg c. 14 kg d. 6 kg

Amit's monthly income is 30% more than that of Raunaq. Raunaq's monthly
income is 20% less than that of Deepak. If the difference between the monthly
incomes of Amit and Deepak is Rs. 800, what is the monthly income of
Raunaq?

oIl  easiueufe THaImOTEND Jeomdb  eeuaiemy ol 30% oHsb.  Fems
eTeTLIGfl6dT LOTHeUBOTEID SHudb eeauemy ol 20% @Gwme|. $Sud BBID DIOS-6T
LOTS  U(BHLOTETHH 6 alSHHWTFID ¢ 800 6TeNed Feoimds - 6T LOTSHEU(HLOTEILD

a. Rs. 12,000 b. Rs. 16,000 c. Data inadequate d. None of these

In an examination, 34 % of the students failed in Mathematics and 42 % failed in
English. If 20% of the students failed in both the subjects, then the percentage
of students who passed in both the subjects was.

Qb BpTaled 34% TeWIaTHeT HewlBHHHID, 42% DTEWITH6T SRS 605 GID
Camevalenuwl supaiert. 20% wreweuTser SHUTL SHeDd BFHTeval  SIEWLHBTTHE
ooy @ LMLSHed CaTdd iemLhpalTseller alHlsb ererent?

a. 44 b. 50 c. 54 d. 56

In an election between two candidates, one candidate got 62% of the total
votes and won by 432 votes. What is the total number of votes casted in the
election?

R BxTxelsd B Geul umenTsefled @maUT GOTHEH amsGHeies 62% GuBmy,
432 aMEGH6T  lHHLTFSHFHe0 OeuBpl  QuBmnT.  eeled, uFHleumer GCLOTHS
QUTEFHB6ITGIT  6T600T 6001 b6 B

a. 684 b. 1116 c. 1800 d. 504

Self Practice

26. Lalitha took a math test and got 35 correct and 10 incorrect answers. What was

the percentage of correct answers?

GVAIIBHT 6leTLIGUT HTeT 6I(IpH W  (H HewlHBahiTaled 35 gflwmenr LFHevsEHD, 10
SHEUBTET LIFH60BHEHLD 6I(PHGITT 6Tealled, SieuT Slellds Fhwmer ugHlevseler FHaisld
61601601 7

a. 28?% b. 713% C. 77%% d. 40%
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Solution:

Total Questions = 35 + 10 =45

= 3—5><100
45

=77 o
9

A metal bar weighs 8.5 kg. 85% of the bar is silver. How many kilograms of
silver are in the bar?

8.5 &.& eemL OFTewi T 2 Gors Ul uled 85% Geeell eeiled ©IFH60
o siter1 GleusiteMullesr eTemL?

a.7.125 kg b.7.225 kg c.7.325 kg d. 7425 kg

Solution:

85% of 8.5

8 8.5-7.225kg
100

In an examination, 65% students passed in Civics and 60% in History, 40%
passed in both of these subjects. If 90 students failed in History and Civics
both, then what is the number of students?
am Gxaled 65% wmewialisenr  Gleenwuluwieded 60%  DTERIEITH6T — GUT6OTH
ut_sHed CxTsdl oemLpbspert. 40% reweuTser e UTLSHeid BHTFdS
SIMLbH . Qresd 90 wrevealTssT el LT SHHeid BFHmeval IenLHSHTTH6N
GT&dll60 OUDTHSHLD ©_6IT6NT  LOT6WTEUTH6NT 6T 6160016001 H6n
a. 600 b. 650 c. 700 d. 750
Solution:

n(Au B) =n(A) + n(B) - n(A n B) =65% of x + 60% of x - 49% of x

(65 60 40)85 17
= X+ X X |= X= X

100" 100~ 100 ) 100" 20

Failed in both = (X—E XJZ%
20 20

X g0 x= 292201 600
20 2

The numerator of a fraction is increased by 20% and denominator of that

fraction is decreased by 20%. the Fraction obtained is g What is the original

fraction.
am Uaesdear  Gamgdwmag  20%  oFsfssiubaBg.  SiHeenLul

uGHwnergl 20% GOBIBILGHBH. BHaMe0 SHenl dbHl16LMID dmmmg aTafl6V,

WPHe60 BHHSH 2 6wIenLOUITer LI6T6ID 616316017
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Solution:

Let the fraction be 100x

100y
76 numerator increased by 20%

Denominator decreased by 20% then 120x _4

80y 5
8

X
y 1

. 63% of 7% is
7% B0 63% eSS

a.4.3 b. 4.5
Solution:
63 50

63 50_9_
100 7 2

PERCENTAGE WORK SHEET- ANSWER

1

2

3

4

5

6

7

8

9

10

A

C

B

D

D

D

D

C

A

C

11

12

13

14

15

16

17

18

19

20

D

C

D

C

B

C

C

B

C

B

21

22

23

24

25

26

27

28

29

30

C

D

B

A

C

C

B

A

A

B

8|Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




